A certain plane has an air speed (relative to air) of 110 m/s.

a. The plane is flying directly South when it encounters a crosswind of 45 m/s
blowing to the West. What is the plane's total resultant velocity? Include a vector
diagram.

b. If the plane wants to return to it's original heading of due South, what heading
should it make in order to compensate for the crosswind? Include a vector
diagram.




\/,’
VT , ’ \/,: HDm/S
%
4 )
V, =4S/

VT:

A
[20 s 22'(L),,;,ﬁ

\/—r-: V‘z -v-\/z?
Ve {10%+ 45
= [19.8
= 20,/
Sine = iS_'
Ho
f= Sin"(%)

- [?2}/ (Eof sﬂ




